
5. ;.q~~<'I f?s\!J•!l'~ ~ ~Mt'Gt >iwl~~ 1£1~ ~~ ~ C.:f ~ ~ ~ 

(i) 4.r + 3 = 7, (x = i) (ii) 
2
y · + 5 = 7, (x =-= 3) (iii) x -4 = 1, (x = 3) 
3 . 

(iv) 6.x = 18,(x=2) (v) ~x ;:- 1,=7,(x = 2) (vi) x+9 = 13,(.x = 4 ) 

(vii) 5x - 7 = 8, (x = 3) (viii) ; + 5 = 8, (y = 9) (ix) : + 4 = 5, (p = l ) 

X , .. • ·,., -

(X) ? = 6, (X = 42) 

6. x~~~~.q~<il~~~cm~(~~Gm~) 

(i) 2x + 5 = 11 

4.2 >f~\§1 : 

X .., 

(ij) - + 5 = 7 
5 

• • I 
I 

(iii) 7x-4=24 

9 - 4 = 3 + 2, ~~~~ffi'lffif'1f1fr~ ii~~Cri ~ ~ ~p~~~ 

~ ~~~ 1£1U1 ~~~I ~~i~~~~ 5 C<Tl'5'f fflf ~~~ 

10 ~ IP~ 5 C<Tl'5'f~J9.f~~~--~I 
• • I~ • • 

(.\!jj~1C<i11C4S >i~\!51<'1 ~~ l.flut ~ ,r~~ ~'1 ~ ~ >i~'!il<'I ~~ ~U"f ~ 

~,~ ~'f ~ >i~~M >il~J<1'(1 ~ ffl Dim I ~ ClT <ft'G~ = dft~ ~'<f, '51'~fk 
~,,T~ ~ --- -

♦ ~"Gl >i~~l~~9PJA'~~1£1~~~~~'5'f~ ~>!~'!lf~ ~ 91M~~--l 

~ . ~ 1£1~ ~ 1· ~ ~C--l"tC<'I, 

♦ 1£1ijl >i~'!l~ ~9f'iR 9Ml ~~ ~,~ f<trnt'5'f <f)MC'4 >l~\!l~ ~ 91M~~--l ~. 
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♦ ~Ul >i~~M ~~ ~~ ~ ~,~ ~ '1 <15MC'4 ~ 1£1~ ~. ~t<:¥1 

1.!!Ul >i~~t<'I ~~.I.fl~~~,~ ~'f <15MGC1 ~ 1£1~ ~ I 
-r '--------- - ---~~----- -------·-
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>!~\!ii~ ~ Ptettl<Ptll_Q_♦ ~ !lfltillt ~"t.~~ cITT )1~4◄'-1 ~~ ~ ~ I ~ 

~ ~, ~ ~ ~<1174 tntt~ -1•A c11 '1il<!ll'ri1 m ~~ ~~~ )f~\!)1◄ )f~~ciJ~1 

~ ~tQJIMS<1 I 

(i) x~y~,~ 1IG1~~1af 

(ii) X ~ y ~,~ 1IG1 ~ ~~ 
(iii) X ~ y ~,~ ~ ~ ~m 

. ' 

X = y ⇒ X + 2 = y + 2 ('i_rn1~1G<i1 2 8fl'>I ffl) 
X = y ⇒ X __:,·2' = y - 2 (1_C{JJ~!Cc1 2 fum'lf ~) 
X = y ⇒ 2.x ~i,2y('l_81 1~1CG'f ~,:r,"<fT12 C<r9rf9 ~) 

(iv) x~y,:r,~~ ~~U7f x =y ⇒ ~ = ~ ('1C~1<PIC'4~~~:~m2G<J~'f~) 



( ,. ~ . ' 1, 

'1~\!>M Pl~l~'i~~ mID'it ffl >im<tS<!I~ ~~ <tSM«ai ~ ~'tl~<!!'iC~~Ut Dl'6 ~-

(i) x+4=8 ~~~~~(~)~~ 
⇒ x+4-4=8-4 ~-~~~4 f<mn'i1~~ 
⇒ X = 4 -f " ) ' 

~~tDtc~ ( i ~,) Jim<tS~~ ~~ 

)jmqS<ilr.iWR ~~ ~~ ~ (.{_~ *~ ~~ • ~ >im<tS<ll~ (i ~,) 
x =4~~ · · ·· , .. · 

.:;;...: . ..~ .. 
<1'f\!39fl3fi = 4 + 4 = 8, ~ ~9t'fA ~ I , , • '' 'i' ;,, . ' 

[ X + 4 = 8, >im4icll9WR p~ ~ 4. ~'it ~◄t~i~~ ~~ ~ ~ ] 
~ ~ijf (gqJ~cll'f c,\!3 . ~,~: .. -·. ;.p( 

. . t ... 

(ii) x-5 = IO ~~m~~(~)~~ 
⇒ x - 5 + 5 = 10 + 5 ~~ffl-~af~5 C<llr;t~ ~ 

. ; .. ~ ,.~ ·- . . .: . 
⇒ X = 15 . . .. 

~ .>.-, •\ '~ r • • •~ 

~~~x = 15 (ii)~, >tm<tS<ll~-~~ I · ·:· ·. 

~ ~ ~1,1 >im<1S<11~ ~~ ~Pfl1tc:nh1~ c,'8 ~-
F, 'i rt 1,/ 

(iii ) 6x = 24 -
~.;,-; ~ \ I 

>im<15cil'fCG1 ~~ \SC~-1} ~'c-f ~ X ~ ~ ~~, ~ ~? ~ <11\!3~ ~ 'x' 

~ ~ ~ <1l-B~ 6 ~ ~'f ~-~ ~ ,i~'!lf~I~ >i1l\;!ciN>1 ~ ~ ~ 

~~ 6~~'f ~c;TT'if,:f I 

6x 24 
⇒ - = -

6 6 

: . X = 4 
;f; ~~l, 

~~~x = 4 (iii~,) >im<r>◄~~~ I 

(>tm<f.<M~R ~ r..1Rrmc.U1 ~'a,~~ 6 ~ ~ ~) 

(iv) X = 4 
5 -

~~ >im.qs<il~ <1l-B~ 'x' ~1MS«ot~ 5 ~ 'f{'f ~ ~ ~ >imqS<il'fCGA >i1l\;!c-\J'!>l 

~ ~ ~ ~~ 5 ~ 9B'f ~ c;TT~ I 

X · - x 5 = 4 x 5 .. 5 

. X 



I • 

⇒ x=20 
.'. X = 20 ~(iv~,) >i,m<ti<l~ ~~ 

c~ ~w~rw1 ~'a-f ~~ s ~ 9B'f ~) 

(iii)~,~ (iv)~, >i~<tS<tfoi ~ ~~~~~Gil~ M~ ~~ m (iii)~, >im<l5~~ 

X = 4 ~~~~(iv)~, >im<ti<l9~ X = 20 ~ 9fffl'I ~DM~ I 

'8~ @qt~<t'W4t<t~ ~ ~ ~ >i,m~<t'f ~~ ~ '5l~~ 6/il~cil ~ '1~~'6~ ~ 
~~ >im<t5<l~ >1~¥\J'-!it ~~ ~ ~~ <U~~<l ~~ I '89f<t"°~ @q~~ 

>1,m~9~ ~~ ~ ~ ~ut ~ ~ ~Mtzj<t ~MC~, C<fi~~~t lilUl'-!>'c~ ~ ~ 
~ ~J~~cil <tSM~iil~ ~ ~, ~ tgq~foiC<f)~Gt ~ ~ ~ I 

'©'t\~◄~ li 
~~~ (a) 3x + 5 = 41 

(b) Sx- 7 = 8 

(a) 3x + 5 = 41 

~ 1: ~~ ~ 3x~ J.J~<Mi.~~~ ~ 5 ~'11 fflCiil ~ ~-

3x + 5 - 5 = 41 - 5 

<ft 3x = 36 

~2: l!l~~~~'x' ~~<fti~ 3 ~~'f~~. ~ 

>i~~ii!Nl1 ~ ~ ~~ 3 ~ ~9 ~ c,tf~ I 

~,p~3~~'f~ 
3x 36 
-=-
3 3 

<ft X = 12, ~(a)~, J.lm<lS<l~ ~~ 

[>i~-Mfo1~~~~~~~~~~ x= 12(a)~,>im~<t~~D1'6, 

~~ = 3 x 12 + s = 41 ~ ~9f1JR ~ 1 lil~ >1m~cil~ ~~ ~~ ~ 
~~~] 

(b) 5x- 7 = 8 

~ 1 : ~~ 5x ~M<M ~~~~-a,~ 7 Ql't'>f ~ 
Sx-7 = 8 

⇒ 5x - 7 + 7 = 8 + 7 
⇒ 5x= 15 



~ 2 : I!)~~~ 5 C<f ~"I~ (ffl"I '5x '<fS 5 ~ ~"I ~ X C?/Kfl ~) 

5x = 15 

5x 15 
⇒ s=s 
⇒ x = 3 l!l~CG1<.~ f.tccfu ~~ 

[ ~~ ~~ ~ ~ ~ ~ ~ cmt] 

I '511~c4:n - 4.2 1 

1. bc1<titU1 '1~ <ticA~ <u~~1<1 ~ 2t~ ~ WT~ ~ >Jm<ti<l'fWI ~~ ~ , 

(i) X + 5 = 12 

(v) 3x= 42 

(ii) X - 7 = 0 (iii) y - 3 = 6 (iv) Z + 6 = - 5 

X 
(vi) 5 = 6 ( 

... ) X 3 
(vii) 12x = - 36 vm 4 = 5 

(ix) 7x = 35 (x) P = 3 
4 

2. bci<tic'Gt '1~ <tif1<l'cci <lJ~~ <ti~<lci<i'ftm '&<IC<lt<I WT~ ~ >Jm<ti<l'fWI ~~~I 

(i) 4x + 5 = 45 (ii) 3x - 7 = 11 (iii) 2x 5 - 7 (iv) 
4
Y - 7 = 5 -+ -

3 3 

3. ~ >Jm<fS<lr.~ ~~ ~ I 

(i) 4x= 64 (ii) 4x + 7 = 15 (iii) y = 6 
4 

(iv) 3y= 60 

(v) 6p + 7 = 37 (vi) 7p - 9 = 5 (vii) 5x - 7 = 8 (viii) X + 2 = 3 
5 

(ix) g_ - 1 = 2 (x) 3x + 11 = 50 (xi) 4x + 10 = 26 (xii) x 4 6 - + = 
3 3 

(xiii) P + 5 = 12 (xiv) g_ + 4 = 7 
3 2 

(xv) 2(x + 3) =x + 7 

4.4 91~1<t<I ffl Ji~4S◄ct ~~ g 

~~ '5TT'if""~ '511<ftllb'il\!) >Jm<ti<!"i l!)Ul ~~ <tiC~, >Jm<ti<1r.'f<I ~~ l!j"C<'fS ~~~ C<J15i ~ 
f«m5i ~~I ~ X + 7 = 5 'im<ti<lr.ttut ~~ <tiC11~ ~ ~~ ~ 7 f<k'm5i ~ '5f~~ 

X + 7 = 5 ➔ (i) 

x + 7 - 7 = 5 - 7 ('1(.~l<P!Cci 7 f<mrt51 ~) 

⇒ x+ 0 = 5 -7 
⇒ x = 5 -7 
⇒ x =-2 
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